ecovadis

IREEM: 2024

Bk HERUBE 52

BNEEEREDEYE. ELFNTILEBREREN SR,

il T# v

17,883.28 tC0se
18,0001
13,500
9,000
4,887 tCOse
4,500
38.26 tC0,e .
0 SEE 1 SEE 2 SEE 3
==
B 1 Hipk
XSRS ABERISRENRRFAF E N BRI, W0FEW. QMR EERG.

> EEHRZEBRRPAEFSEE SRR L.

> BEHIRE R RN E~EN.

BESTHREE
« 22 808.54

tC02€

BE 1

® 38.26 tCO,c

EE2 0
® 4,887 tCO,e

EBE3
17,883.28 tC0,e



mE SUSSERE 1

28 25.82tC0,e HHh S
211 * 38.26
tCOze
141 12.44 tc0,e
EIEAE
74 12.44 tco,e
0 =4
B AR BRI BEE
25-82 tCOZG

SEE 2 Hik

O HFEHTE2 HREE, RIMEEERETFHHNOTE, BATINRSERNKBLR. NRERRHT
ETFmitE, RMSERENSRTEETHZNRRALEE 2 B2HK.

XEHREABIHERRNER, BREREELFRIMIFKIR.

> BETFMEHNHBEUATETBAERREXE. KEBENEEMARMEREERMENNEMEENEZR.

> BFHmHIBE R T (E R RKIREY MBI HEGRE

B ESIFHICE
6,000+ =
B 2 SHiRE
4,887 tCOze 4,887 10z (B FhipsE
45001 o R5HR)
[ ]
3000, 4,887
tCOze
1,500+
BESEHIREE2 8
: , HRE (BFmH)
0 . .
BESHFHICER 2 SHKE BT 4,887 tcose

EESEHHCEE 2 2
HRE (EEFiﬂ’.ﬁ )

4,887 tco,e



SEE 3 Hin

SEE 3 BEERLSEMS ERFE RN, HhaE LM TiFeE. ~mech. R T8
MESIRIT. LFHRRT = RARSEER; TRRRRT =R RSHERNAE,

RESKSCE 3 EHNE
17,883.28

tCOze

LiiFcE 3 #5145

SEE3: 1— MWEERIARS

FE3: 3 — MEFIRERIEXER) (FRIEEEE 1
el

Fhow
SEE3: 2 — AAKY

SBE3: 4— EisEms s
SEE3: 7 RTEY

SEE3: 5 — EEFEREHIK

SBE3: 6 — BSIRIT

SEE3: 8 — LiRmRe

THEERE 3 25145

SEE3: 10— BEFRIAE

SEER: 12— BEFSNEGRPLE
SEE3: 9— THER

SEE3: 15— /&

SEE3: 13— TSR

SBE3: 14— HiFEE

SEE3: 11— BEFRNER

BESEFHIBCER 3 T2 HRE

7,618.74 tco,e

1,446.91 tCOze
701.61tC0se
297.24tC0se
251.07 tCose
205.77 tCO,e
20.97 tCOse

FiER FER

2000 4000

2,370.98 tC0se

695.32tC0,e
143.43 tC0ze
KER FER
TiER FER

FER 728

1500 3000

BESEHHHCER 3 EFEHKE

10,264.54 tco,e

BHIE (tCOge)

7,340.96 tCO,e

6000 8000

BHE (tCOLe)

4,409.01 tCOse

4500 6000



EEEE (®



